Please Answer the following questions, some are multiple choice, others require some work.  
1. Write the augmented matrix for the given system:

 
[image: image1.png]6
3x + 2y +z =09
X - v=4




2. Use the system in problem #1. Without interchanging any of the rows in the augmented matrix, what is the first value which will be replaced with zero when using the Gaussian Elimination method?
[image: image2.png]



	
	a.
	-1   

	
	b.
	1   

	
	c.
	3   

	
	d.
	5   


3. Represent the given matrix with a system of equations in x, y, and z.


[image: image3.png]



	
	a.
	
[image: image4.png]“Zx + oy + 4z






	
	b.
	
[image: image5.png]“Zx + oy + 4z
3% + 9y = -6
x + 3y = 13






	
	c.
	
[image: image6.png]TZx + 3y + z
x + 3y = -6
4% + 9y = 13




  

	
	d.
	
[image: image7.png]TZx + 3y + z







4. Use elementary row operations to write the matrix in echelon form:
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	a.
	
[image: image9.png]


  

	
	b.
	
[image: image10.png]


  

	
	c.
	
[image: image11.png]


  

	
	d.
	
[image: image12.png]





5. [image: image13.wmf]
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Solve the system of equations by the Gaussian elimination method:

[image: image15.png]Zx + y - 3z
-y + Az =6
X+ 2y -z=9





6. Solve the system of equations by the Gaussian elimination method:
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7. [image: image17.wmf]

193



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image18.wmf]

MC



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image19.wmf]

1



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image20.wmf]

3

When solving the following system of equations by the Gaussian elimination method,


[image: image21.png]x - 3y - 2z
Zx -y + 3z = 15
4% - 4y + 9z = 49





which of the following is NOT a matrix leading to the solution?
[image: image22.png]



	
	a.
	
[image: image23.png]32 5
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4



  

	
	b.
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	c.
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8. Given A = 
[image: image26.png]


and B = 
[image: image27.png]


, find A + B .
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	a.
	
[image: image29.png]


[image: image30]  

	
	b.
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	c.
	
[image: image32.png]


  

	
	d.
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Given A = 
[image: image38.png]


and B = 
[image: image39.png]


, find A - B.

	
	a.
	
[image: image40.png]


  

	
	b.
	
[image: image41.png]


  

	
	c.
	
[image: image42.png]


  

	
	d.
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Given A = 
[image: image48.png]


and B = 
[image: image49.png]


, find A + B.
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	a.
	
[image: image51.png]


  

	
	b.
	
[image: image52.png]


  

	
	c.
	
[image: image53.png]


  

	
	d.
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11. Given A = 
[image: image55.png]


, find -3A
	
	a.
	
[image: image56.png]


  

	
	b.
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	c.
	
[image: image58.png]-9
-3
3

6
-1z
-15



  

	
	d.
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12. Given A = 
[image: image60.png]


and B = 
[image: image61.png]


, find 2A - 3B.
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	a.
	
[image: image63.png]


  

	
	b.
	
[image: image64.png]


  

	
	c.
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	d.
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17



  


13. Find the product: 
[image: image67.png]
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	a.
	
[image: image70.png]


  

	
	b.
	Undefined   

	
	c.
	
[image: image71.png]-3s 10
5 -10



  

	
	d.
	
[image: image72.png]-as 9
10 -10






14. [image: image73.wmf]

200



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image74.wmf]

MC



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image75.wmf]

1



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image76.wmf]

4

Find the product: 
[image: image77.png]
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	a.
	
[image: image80.png]


  

	
	b.
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	c.
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	d.
	Undefined   
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When finding the product, 
[image: image87.png]
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how many pairs of numbers must be multiplied together?
[image: image89.png]



	
	a.
	3   

	
	b.
	9   

	
	c.
	12   

	
	d.
	27   


16. [image: image90.wmf]

202



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image91.wmf]

MC



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image92.wmf]

1



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image93.wmf]

4

For the product, 
[image: image94.png]
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what will be the element in row 3, column 1?
[image: image96.png]



	
	a.
	8   

	
	b.
	3   

	
	c.
	0   

	
	d.
	-4  


17. Given these matrices and their dimensions: A3x2, B3x2, and C2x4 Which of the following can NOT be performed?
[image: image97.png]



	
	a.
	A+B   

	
	b.
	3C   

	
	c.
	AxB   

	
	d.
	AxC  
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FOR PROBLEMS 18 - 20 USE THESE MATRICES:
A = 
[image: image102.png]


B = 
[image: image103.png]



18. Find A2,1
[image: image104.png]



	
	a.
	1   

	
	b.
	2   

	
	c.
	3   

	
	d.
	4  


19. [image: image105.wmf]
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If C = AxB, the order of C is:
[image: image109.png]



	
	a.
	1x3   

	
	b.
	3x1   

	
	c.
	3x3   

	
	d.
	unable to determine


20. If C=AxB, find C2,1.
[image: image110.png]



	
	a.
	37   

	
	b.
	30   

	
	c.
	23   

	
	d.
	21
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